The PRtowmic Nucleus

Evrnest Rutherdovd (1908, ¢.Nokel):

(Lt lemtowmetev ov fevwl)
Nucleus . \nerxﬁ but awmall.
Q: Whok ¢s the vuucleuas wiode ol?

+Becquevel | Peevre ovd Mavce Cuvce
( 1903, Nobel) : o€, 2,4 vodotions
(from the nucleus).

+ Ruther-lovd : the vucleus ol okowms
Pv—o-]—_ov\_ . Ehe vuuclews ol M Ci\rOC&e.(n.(
X - partecle : the vucleus Ci Heltumm,
o heavy and neuwtvol pevtecle must
excst bestde the wrotrow

-+ Jowes Chodw ek , 1932 (1325 ,Nokel):
the c\c,scove,\r\& ol Ehe wneukvow
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X: symiool ol the element (H Ve, LL..)

Z . otowmie nuwmber = number of erotous
N : neutrovu. vuuwloev

AR : moss nuwmboer : A=Z2+N
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Electvon, proton, neutvrow
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